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AP Calculus AB
3.7 Optimization Day 1

/ﬁegles for Solving Optimization Problems:

Name: SQ W\-W\C; Jr
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Read the problem carefully. Ask yourself: What is the unknown? What are the glven quantities?
What are the given conditions?

Draw a diagram.

Introduce variables. Write a primary equation for the quantity to be optimized.

Reduce the primary equation to one having a single independent variable.
Determine the feasible domain.

Solve. J
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1) Arectangular garden is to be enclosed using the wall of a building as one side and 6 féet 0
fencing on the other three sides. Find the length and width that will give the maximum area.
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3) Find the d\i/mg(r?sions o%gi?e re—'f{:_taﬁgle of largest area that has.its base onL
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